13.

LAY ‘v!‘ » 5;‘!"‘

GENERAL NOTES: @
THE COLONIAL SHUTTER SHOWN ON THESE PRODUCT EVALUATION DOCUMENTS 4.017" 132" 075" )
HAS BEEN VERIFIED FOR COMPLIANCE WITH THE 2006 INTERNATIONAL BUILDING 3.682" ®.346" R.062" _ 1gg# .566 |_:
CODE (IBC) AND THE INTERNATIONAL RESIDENTIAL CODE (IRC) WITH TEXAS 100" e / 060" 233" ke 41 2.000
REVISIONS EFFECTIVE JANUARY 1, 2008. THE COLONIAL SHUTTER IS 864", 1.791" | " =t — — AL ! N %
7 Rl .706 ﬂfr .090 099" | =2
ACCEPTABLE FOR THE SEAWARD AND INLAND AREAS, AS DEFINED BY THE . ol . . = 5
TEXAS DEPARTMENT OF INSURANCE. THE FOLLOWING CONDITIONS WILL APPLY. A Y - g o " AR o - - g
3 AR .Nwm: 369" N : Sies" ¥k & = <
NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF THIS Q| 3 W e 3 << : ! . 21 ¢ m Loosse 11 & < Sz |2
PRODUCT. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED FOR LAG SCREW & S J,ﬂ 080 < > N m H Se2 |8
DESIGN. % /A S = o [|— a ~82 |2
THIS SHUTTER SYSTEM HAS BEEN TESTED FOR LARGE MISSILE IMPACT , 1318" 1.875" 1.896" m S Z20E z
RESISTANCE, CYCLIC PRESSURE LOADING AND FOR UNIFORM STATIC AIR 1 2.521" o by m.m.m#m =
PRESSURE IN CONFORMANCE WITH ASTM E 330, E 1886 & E 1996 MISSILE, LEVEL - EEEE
“D” STANDARD AND UNIFORM PRESSURE. MUNTIN JAMB JAMB SNAP 4" CENTER CLIP A%mwﬂm ]
n m =
DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN REFERENCING SCALE AALFSIZE SCALE HALF SIZE SCALE. HALF SIZE SCALE HALFSIZE s o Ak
THESE DOCUMENTS IN ACCORDANCE WITH THE GOVERNING CODE, ASCE VERSION TE2End) =
AND GOVERNING WIND VELOCITY. FOR WIND LOAD CALCULATIONS A DIRECTIONALITY EECEES
FACTOR OF Kd =0.85 SHALL BE USED. QO g3e5> (s
= = K m
THESE PRODUCT EVALUATION DOCUMENTS ARE GENERIC AND DQ NOT INCLUDE — 145" Wc.m%m.m 5
INFORMATION FOR SITE-SPECIFIC APPLICATION OF THIS SHUTTER SYSTEM. 195" o= El 2
( AL R =
THESE PRODUCT EVALUATION DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE 055" 3.875" 090" = %ww 2
CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM THE CONDITIONS Lﬂ\. . : 1.125" N £4= (5
DETAILED HEREIN_AND THE CONTRACTOR VERIFIES THE EXISTING STRUCTURE IS CAPABLE TYP. - N : = 28 |e
OF SUPPORTING THE SUPERIMPOSED LOADS N— —.145 195+ T % o
N " 5 " =
ANY MODIFICATIONS OR ADDITIONS TO THESE PRODUCT EVALUATION DOCUMENTS R13.796" ( N 0607 i Q .o TS = Z =
WILL VOID THE PRODUCT EVALUATION DOCUMENTS. . R13.851" 1195 Z © 3.875 2 K 8
: . : . : o~ Y
WHEN THE SITE CONDITIONS DEVIATE FROM THESE PRODUCT EVALUATION & L2 ASE S 2 = 2
DOCUMENTS, THE BUILDING OFFICIAL MAY REQUIRE THAT SITE SPECIFIC DOCUMENTS = Ne—R.081 n B :| T . © w %
BE PREPARED, SIGNED, DATED AND SEALED BY A LICENSED ENGINEER OR ~ © - R.245"— | S o N R.245"— | m Gl °s
REGISTERED ARCHITECT, WHICH DETAIL AND JUSTIFY THE DEVIATION. SAID _—R.250" <) & Lo le <) > A =8
DOCUMENTS SHALL BE SUBMITTED TO THE PRODUCT ENGINEER FOR REVIEW AS A ) = 1.410 < - —taguo
CONDITION TO THE BUILDING OFFICIAL GRANTING HIS/HER APPROVAL. 4 120" 1 120" o SE N
EACH SHUTTER SHALL HAVE A LABEL THAT READS AS FOLLOWS: 1.200" e » e E| ~N-:588
TOWN & COUNTRY INDUSTRIES, FT LAUDERDALE, FL ! 4.510 1.590 4.510 2 SH L K
COLONIAL SHUTTER » 22ak,
MISSILE LEVEL D, ASTM E1886, E1996 & E330 COLONIAL BLADE WALL HINGE HEADER / SILL e BUILD-OUT WALL HINGE = | N2 o
T.D.|. EVALUATED SCALE: HALF SIZE SCALE: HALF SIZE SCALE: HALF SIZE SCALE: HALF SIZE =R AVE SR
= [ 55 o8
ALL EXTRUSIONS SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N. MIN. Fy 25 KSI. = S| & s:c¢
" " " " " . o B m M -
ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH 1.606 1.000" 3.000 3.000 ,1.000 5 O W 2522
A MINIMUM TENSILE STRENGTH OF 60 K.S.I, U.O.N. POP RIVETS SHALL BE 3/16" BE = a =229
DIA. 410 STAINLESS STEEL, U.O.N. Jus” 58 m o mo b S
. oo - El
MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION PROVIDING WIND . Sl N = s
LOAD & IMPACT RESISTANCE = +57.2/-66.2 P.S.F. FOR 97-3/4" MAX. SPANS. N 5 | 190" o5 T 3
in| 0 © \ : N
SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE LEFT  in| m N TYP. o o
iN THE OPEN POSITION IN THE EVENT OF A HURRICANE WARNING. e o N 2 _
THIS SHUTTER SYSTEM COMPLIES WITH THE ASTM E 1996 NON-POROUS <+
REQUIREMENTS. =2
+ - NO 2 4 m
DESIGN PRESSURES IN THE OPEN POSITION ARE BASED ON ASCE 7, AND S ML
SHALL NOT EXCEED *28 P.S.F. WITHOUT SITE SPECIFIC ENGINEERING. ] 520" 1.606" ~ 8.000" 5[2:F
R.245" : @l b
910 1 S| |2
Jﬁqom: "7" BAR - PROFILE & LAYOUT B
% (10) SeATE-FALF SiZE EOE
. A i a/3[2
I 080" V¥ , m,w 2
— & P o = Sl 1)
1.000" |, 3.000" L 3.000" ,1.000" : 5 i JEA W | = A% LV Knezelieh's,
: = 2 EQ @ EQ ® 112 £ BA oA P re ‘m.».... @ na mjw,mﬁmmm oo
s 8 o E SRR N T S d— - HURRICANE PROTECTION # *:5 | 2 i
- B > e ivoesfeie 1 sbousnansel
i . : (1-ANGHOR,) ) Ty o7 1 1 o
o 190 0 250"® S 080 ., 1.625" : i EZEVICH
1 TYP. N — %) _.375 A
| 0, | N MIN. ®.270" :
L, 2.500" ) | ol
1.606" 8.000" , , ® L : |2
© =] ~N
1.796" ” N.QW% %..NW: |, _ J— _
R by
AN >ZOIOE 3.250" drawing no.
ANGLE L-PIN-1/4" & "C" CLIPS SECTION A 08-361
SCALE: HALF SIZE SCALE : HALF SIZE SCALE : HALF SIZE P

C:\_MiDi_Projects\MiDisparate_CAD\VIKnezevich\CAD2008\Town_and_Country\08-361\R2-sub\08-361-01.dwg, 5/29/2009 4:10:41 PM, 11 x 17, 1:1, www.MiDisparate.com



(100R

6.00" TYP.

d

97.75" MAX.

SHUTTER SPAN

SEE Z-BAR ANCHOR SCHED. FOR aon SEE Z-BAR ANCHOR SCHED. FOR
_mouﬂmﬂ_wzmww EXIST. STRUCTURE, TYP. 6.00" VP _mouﬂmﬂ_wzmww EXIST. STRUCTURE, TYP.
OR ALL Z-BARS . : OR ALL Z-BARS
CTYP. DETAILK E [ TYP. DETAIL KE — DETAIL _@/ —
- —] | I |

T ) ] N \
[ =11 i g ) gy B J_.IT
/_ P B o M W) T o o f A

<

ﬂ_ \‘wﬁ_ﬂ.ﬂr“‘:“‘uu,“‘

- = —t WALL HINGE ANCHOR SCHEDULE E

po M [oP] po :qz Z_z z_z Sm Mun

rZ T Tz 0 R R NP m

@@/ I B A— 3.00" M I e i D S— 3.00" MANUF. DIAMETER DESCRIPTION o_m_qu%.mo_m EMBED. | SPACING mmm g
O3 MAX. in DETAIL L MAX. CONCRETE (MIN. ¢ = 3192 PS]) SEq - |

~ : Z2Hg|=

(6 OR e EACH SIDE Fp— S R N O — EACH SIDE MW | 1/4 IN. [TAPCON 2.50 IN | 1.00 IN | 2.00 IN JEE% 8|2
(8) \ OF CENTER & OF CENTER 2522
e, v — e T LINE | o e | —— 1 T G 1) MW |5/16 IN.|TAPCON XL 250 IN| 1.25 IN | 2.00 IN cwzng|2

m S e T - z @ — B — R N HOLLOW CONCRETE BLOCK 2EC 8| g

— TR < — — ELCO | 1/4 IN. [ULTRACON 250 IN|[ 1.25 IN | 2.00 IN SEMCIE-

—DETAILL—— ] ALL POINTS| 1/4 IN. |SOLID—SET 3.00 IN | 0.88 IN | 2.00 IN 5 mbmw@ Z

& WOOD (SOUTHERN YELLOW PINE, G=0.55) mw%mw 2

N N = N N 1/4 IN. |LAG SCREW 0.75 IN | 1.25 IN [ 1.50 IN S585s|%

v _ _ v 2 ¥ _ _ v 1/4 IN. | SHEET METAL SCREW | 0.75 IN | 1.50 IN | 1.50 IN ZSZE|2

T o |

w WOOD (SPRUCE-PINE-FIR, G=0.42) e =

— — 1/4 IN. |LAG SCREW 0.75 IN [ 1.25 IN [ 1.50 IN suc |2

1/4 IN. | SHEET METAL SCREW | 0.75 IN | 1.50 IN | 150 IN 22 |e

ol =

(&)

eS0T By T @ ) T door)

6. O:L /I@
TYP. G

HINGED coLONIAL SHUTTER SYSTEM|KNEZEVICH ASSOCIATES

AU\ TR R

TYP. TYP. 2
34.00” MAX. 34.00” MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. ~ 8
3 H %
SHUTTER WIDTH = 68.00" MAX. SHUTTER WIDTH = 102.00" MAX. ._W.mm S gm
e 3 - M o
Nidis
SHIRE
TYPICAL ELEVATION 2 PANELS @ TYPICAL ELEVATION 3 PANELS n . v-m o £
SCALE: 172" = 17-0" SCALE: /2" = 1-0" AT
ks ‘%\M.m Lo
i < 2 mo.
SEE Z-BAR ANCHOR SCHED. FOR SEE Z-BAR ANCHOR SCHED. FOR 23&R
6.00" mouﬂm:_wzmww EXIST. STRUCTURE, TYP. _mouﬂmn:wzmwm EXIST. STRUCTURE, TYP. W £33
. OR ALL Z-BARS OR ALL Z-BARS £°353
[ Typ., DETAILK ___{DETAIL M d 2 e Ep £ S <y
——F L ==1] | I L——1 s
CIF T 1 a T . =
\ ol ) | P ) A A | [ B I o o o 3
“_|LF ’ —_ {2) ANCHORS REQ'D AT EACH WALL HINGE. ’ -
. T SEE WALL HINGE ANCHOR SCHED. FOR T
% CONNECTION TO EXIST. STRUCTURE % .
g @G e N — IO ENN b2 bt
z _ . 3.00" > I L e el _SS— 3.00" <lE[,
n @A —DETAIL L MAX. n @A —DETAIL L MAX. EELE
= (6 OR - ?QIDAS N EACH SIDE = OR PP }QIDE I EACH SIDE EFEE
PN m U o OF CENTER P W A\ e OF CENTER mmmm
o~ H—— ————F5 % LINE " ——FF——— % ——— T\ LINE G| 3
z Tty 1T € z @ — It ———F + =
x — — N — — BEAM, SEE BEAM SCHED. BEAM “
u n 1/4-20 S.S. MACHINE SCREW INTO 1/4-205 | \! MAY BE USED AT TOP OR BOTTOM,
& & ALUMINUM RIV-NUT AT EACH VERTICAL OR BOTH. BEE
= N N = DETAIL Q 1
2 v ! I v = eI
I I = P L AL TTR
V)] 7] k= ] - - . - - | - - - 2 / ,llﬁlﬂ € Hm.P wwr.Q.x -:
~ =] I I Ty Tl Knezlieh's,
= —t L X K ‘ﬂ.».- . .,wE gssjonal Engtaeer ‘
‘\ﬂ_‘. 3 = = - - = = = = = = . = = = = = = = = = = — w < < e & Aba.m igensgllo.: nmmomaﬂn 4
= 2 %S e Y g
. Y — zows | OAF Ll B
6.00" s T 6.00" 2 madid e B H
TYP. © /@ TYP. ) /@ iy mdrpﬁ% YEZEVCT
7. . . :
34.00” MAX. 34.00” MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. 34.00" MAX. am .nw..
k4 1 w? o.a-n.. }
SHUTTER WIDTH = 136.00" MAX. SHUTTER WIDTH = 136.00" MAX. @
uwﬂwv
BEAM SPAN '
drawing no.
TYPICAL ELEVATION 4 PANELS TYPICAL ELEVATION WITH BEAM (2, 3, OR 4 PANELS) Qmuwmu.
SCALE: 172" = 17-0" SCALE: 172" = 17-0" sheet 2 of 5

C:\_MiDi_Projects\MiDisparate_CAD\VIKnezevich\CAD2008\Town_and_Country\08-361\R2-sub\08-361-02.dwg, 5/29/2009 4:11:59 PM, 11 x 17, 1:1, www.MiDisparate.com



{3) ANCHORS REQUIRED, SEE Z-BAR
ANCHOR SCHEDULE FOR CONNECTION TO
EXISTING STRUCTURE

ASSEMBLY SCREW SHALL BE #10 x 2"
HWH 410 HT. STAINLESS STEEL SCREW
XYLON COATING OR EQUIV.

INSTALLATION OF BLADES MAY BE
REVERSED

TYPICAL TOP WALL MOUNT
SCALE: 3" = 1'-0"

(3) 3/16"® STAINLESS STEEL
POP RIVETS, TYP. EACH SIDE
OF HINGE

7/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT WITH
NYLON LOCK NUT

TYPICAL PANEL HINGE CONNECTION
SCALE: 3" = 1'-0"

(&) 1/4-20x1" MACHINE SCREW INTO
1/4-20 ALUMINUM RIV-NUT

TYPICAL CENTER CLIP CONNECTION
SCALE: 3" = 1"-0"

INSTALLATION OF BLADES MAY BE

,‘: REVERSED
(5) : \f
TYP. S

NN N

ER NIRRT RSN mwmuw.nwﬂ\ﬁmﬁw
g
¢

#14x1" STAINLESS STEEL SMS FLAT
HEAD OR ROUND HEAD

TYPICAL BOTTOM WALL MOUNT
SCALE: 3" = 1'-0"

BANDING SHALL BE STUCCO OVER
CONCRETE, HOLLOW CONCRETE BLOCK OR
WOO0D TO PROVIDE SOLID BEARING
SURFACE

{3) ANCHORS REQUIRED, SEE Z-BAR
ANCHOR SCHEDULE FOR CONNECTION TO
EXISTING STRUCTURE

ASSEMBLY SCREW SHALL BE #10 x 2"
HWH 410 HT. STAINLESS STEEL SCREW
XYLON COATING OR EQUIV.

INSTALLATION OF BLADES MAY BE
REVERSED

ALTERNATE TOP WALL MOUNT
SCALE: 3" = 1'-0"

INSTALLATION OF BLADES MAY BE
REVERSED

MUNTIN(1_IREPLACES ANY (2) COLONIAL

BLADES(S )
ALTERNATE BLADE
SCALE: 3" = 1"-0"

INSTALLATION OF
BLADES MAY BE
REVERSED

{4) 1/4-20 RIV-NUTS 1

HEAD OR ROUND HEAD

ALTERNATE WALL MOUNT
SCALE: 3" = 1'-0"

L % P R R v G A A D O PR ]

N\
4
vm
Mﬁ.@ymﬁgwhwﬁ«\sﬁhﬁﬁuf&vn@
#14x1" STAINLESS STEEL SMS FLAT / 3

7/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT
WITH NYLON LOCK NUT .50 50"

.50 /[ 625

(4) 1/4-20x1" MACHINE SCREW INTO
1/4-20 ALUMINUM RIV-NUT

B E— _l I
“ow/

iy

ot —

{2) ANCHORS REQ'D AT EACH WALL HINGE.
SEE WALL HINGE ANCHOR SCHED. FOR

FML 625"

CONNECTION TO EXIST. STRUCTURE OF HINGE
TYPICAL WALL HINGE
SCALE 3" = 7-0"
1/16"% x 3-1/2" LONG
STAINLESS STEEL BOLT WITH
NYLON LOCK NUT 50" 50"

N

e

OAN s £

°
\@ -
(3) 3/16"® STAINLESS STEEL O—— m
POP RIVETS, TYP. EACH SIDE © “
OF HINGE 625"
TYPICAL PANEL HINGE

SCALE: 3" = 1'-0"

INSTALLATION OF BLADES MAY BE
REVERSED

1/4-20 S.S. MACHINE SCREW INTO 1/4-20
ALUMINUM RIV-NUT AT EACH VERTICAL

BEAM, SEE
BEAM SCHED.

{3) 3/16"® STAINLESS STEEL
POP RIVETS, TYP. EACH SIDE
OF HINGE

10.00"” MAX.

/q}a:e x 3-1/2" LONG
STAINLESS STEEL BOLT
WITH NYLON LOCK NUT

6.00"

25"
. MAX.

TYPICAL TRAP MOUNT
SCALE: 3" = 1'-0"

(3) 3/16"® STAINLESS STEEL
POP RIVETS, TYP. EACH SIDE

L 4,00 L 4
: { 1
o
2 AN :
938" | © o
o
.Swf% .938" k625"
TYPICAL CENTER CLIP

SCALE: 3" = 1'-0"

€)
\@ (OUTSIDE)

is:

Florida 33324

Consulting Engineers
Texas Registered Engineering Firm No. 11225
T (954) 821-6933 * F (954) 452-7960

2590 S.W. 105th Terrace * Davie,
email: VIK@Knezevich.com
Copyright © 2009 VIKnezevich & Associates, LLC d/b/a Knezevich Associates

(2)-#12x1/2" SMS .

PER HINGE %
| / Ig
1-1/4"MAX. x 1-1/2"MAX.

x0.062 MIN. ALUMINUM

Y

* FORT LAUDERDALE, FL 33309
* FAX 954-970-9988

INDUSTRIES

HINGED coLONIAL SHUTTER SYSTEM|KNEZEVICH ASSOCIATES

s
ANGLE (CONT.) =
6063 T5 ALLOY nou 2
v ) «© (@)
iy, ‘;MM m Mm m/
s 525
SR
N §5w0
> :.34
EDGE <2°
DIST. E E
$
SIDE CLOSURE DETAIL
SCALE: 3" = 7-0" -
5Els
BE 2
EEE
clatiz
(OUTSIDE) S|=¢
@l iz
| S| 2
\\\\\\\\\\\\\\ W Qv
! HEE
MAX. CIEE
4"x1-1/2"MAX. x0.062 MIN. A
~— ALUMINUM ANGLE (CONT.) JoapBel
SRR 6063 T5 ALLOY e By,

4
4
B

DIST.

6 >_.._.mmz>._.mm_omo_.omcmmom;__.
SCALE: 3" = 1'-0"

T Knedegem,

s g

Lessunsanses

drawing no.

08-361

i
jeensg Llo.: PE 02988 . s
y "

AU\ TR R

sheet 3 of 5

C:\_MiDi_Projects\MiDisparate_CAD\VIKnezevich\CAD2008\Town_and_Country\08-361\R2-sub\08-361-03.dwg, 5/29/2009 4:11:45 PM, 11 x 17, 1:1, www.MiDisparate.com



MAX. {2) 1/4"x3"x3-3/4L" 6063-T6

ALUMINUM HINGE PLATES TO ADJUST (OUTSIDE)
HINGE DEPTH (OUTSIDE) 50" (OUTSIDE) 50"
50" LOUVERED SIDE SOLID SIDE
v
9$ MAX SOLID SIDE

AT RO
e
s 3
D e e T P st u@ RS SR

A\ X!

\

(58

7 ﬁw.%hﬁﬁ,mﬁﬁﬁﬁmzwﬂ-r%.&@%ﬁ&%%&ﬁ%%@%w
LOUVERED SIDE

AN
(INSIDE)

HINGE AND HINGE PLATES TO PROVIDE
MAX. 1/4" GAP BETWEEN SHUTTER
AND STUCCO OR WOOD BANDING

S
S

AR BRSPS R

o

=

ATREETE

25

7

A AR S R R

SOLID SIDE
(INSIDE)
HINGE AND HINGE PLATES TO PROVIDE

MAX. 1/4" GAP BETWEEN SHUTTER
AND STUCCO OR WOOD BANDING

(INSIDE)

e

e

BT
R

EDGE 7

EDGE 7
DIST. !

DIST. 7(2) ANCHORS REQ'D AT EACH WALL HINGE.
SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

2) ANCHORS REQ'D AT EACH WALL HINGE: 7

SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

TYPICAL WALL HINGE CONNECTION ALTERNATE WALL HINGE CONNECTION ALTERNATE WALL HINGE CONNECTION

LOUVERED SIDE

(OUTSIDE) —LOUVERED SIDE

HINGE AND HINGE PLATES TO PROVIDE
MAX. 1/4" GAP BETWEEN SHUTTER
AND STUCCO OR WOOD BANDING

{2) ANCHORS REQ'D AT EACH WALL HINGE.
SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

SOLID SIDE
(INSIDE)
HINGE AND HINGE PLATES TO PROVIDE

MAX. 1/4" GAP BETWEEN SHUTTER
AND STUCCO OR WOOD BANDING

ALTERNATE WALL HINGE CONNECTION

()

<

d

Consulting Engineers
Texas Registered Engineering Firm No. 11225
2590 S.W. 105th Terrace * Davie, Florida 33324

email: VIK@Knezevich.com

T (954) 821-6933 * F (954) 452-7960
Copyright © 2009 VIKnezevich & Associates, LLC d/b/a Knezevich Associates

HINGED coLONIAL SHUTTER SYSTEM|KNEZEVICH ASSOCIATES

SCALE: 3" = T-0" SCALE: 3" = 1-0" SCALE: 3" = T-0" SCALE: 3" = T7-0"
(OUTSIDE) (3) 37169 STANLESS STEEL (OUTSIDE) 4 USE 2X6X1/4 ANGLE FOR 3" 8 4° 2
o z_ﬂ_m_m . TYP- EACH SIDE BEAMS, USE 2X5X1/4 ANGLE FOR 5" 1/4-20 S.S. MACHINE SCREW INTO 1/4-20 rn,s T8
SOLID SIDE SOLID SIDE 50% OF BEAM BEAMS. TYP. TOP AND BOTTOM OF ALUMINUM RIV-NUT AT EACH VERTICAL JAMB —ggud
f\_o._.—l_ z_z mm>x ' moo: nR.Wv leﬂO,,
\@_ CL BOLT v Bt
% 1.600" | / CL ANGLES 0 233
H -ERE
\\\\\\\\\ 75" MIN. S,
I —.75" . YE@, o
S @ ® iy, m.@&.mM* 3
p e g / _ U
LOUVERED SIDE LOUVERED SIDE — @ @@ e F2E5
=33
(INSIDE) (INSIDE) / /@ W mmwm
m v
g TYPICAL PANEL HINGE CONNECTION @ TYPICAL CENTER CLIP CONNECTION RN e— - e— e B =2
SCALE: 3" = 7-0" SCALE: 3" = 7-07 / S
FR— BEAM, SEE ® (]
BEAM SCHEDULE BEAM SCHED. ANCHOR
WALL BRACKET ANCHOR TYPES SPECIFICATIONS. \@@ z
BEAW SHUTTER BEAM NORMAL WEIGHT W00D BEAM SPAN c :
SIZE SPAN SPAN CONCRETE HOLLOW (SOUTHERN YELLOW PINE, G=055 .. s|Z),
(MIN. fc = 3.3KSI) CONCRETE BLOCK OR SPRUCE-PINE-FIR, G=0.42) (2) ANCHORS REQUIRED EACH 100" “.dwm_ﬁhc.“ MACHINE BOLT WITH momm\,o_m._.b,an ..m.m w
8'-175"| 5-8" A, B, C A B, C B, C ANGLE, SEE BEAM SCHEDULE ~ \\© 3.00" ¢ P BEAM SCHEDULE wlgz2
2x3x1/e | 6'-8 6'-3 A.B.C A.B, C B. C (SIDE VIEW) ANCHOR SPECIFICATIONS. . . ANCHOR SPECIFICATIONS S|=
(6063-T6)| 5°-10" | 6'-7" A, B, C A, B, C B, C (FRONT VIEW) @ |
8-1.75" | 7'-0" A B, C A B, C B, C TYPICAL WALL BRACKET CONNECTION DETAIL [CONCRETE & HOLLOW 3| |
rxaxip | 6'-8" | 71-8" A, B, C A, B, C B, C SCALE. 3" = 7-0" CONCRETE BLOCK) =
(6063-T6)|[ 5°-10" | 8'-1" A, B, C A, B, C B, C
8'-1.75"] 8'-3" A.B,C A, C B, C L 5.00" , 1/4-20 S.S. MACHINE SCREW INTO 1/4-20 S5
2x5x1/8 | 6-8 9'-0 A, B, C A, B, C B, C i CL ANGLES ALUMINUM RIV-NUT AT EACH VERTICAL JAMB 288
(6063-T6)| 510" | 9'-6" A,B,C A, B, C B, C Eee
8'-1.75" | 10'=10" A, B, C A, C B, C — 75" (LBOLT S = Al i th ;
ex4xia | 6-8" | 11°-9" A, B, C A, C B, C ® @ Soqe B Y
(6061-T6) | 5'-10" | 12°-1" A, B, C A, C B, C ane il V. Knezelieh's,
ANCHOR TYPES (FOUR ANCHORS REQUIRED EACHEND OFBEAM) | P e e e e e e L‘ \\\\\\\ = # ’a g L)
A= 1/4"x20x1" ALL POINTS SOLID-SET ANCHORS, © < el L wl
FOR CONCRETE: 7/8" MINIMUM EMBEDMENT WITH 3" MINIMUM EDGE DISTANCE AND 3" SPACING, 2B iaeadss Lesaisazessall
FOR HOLLOW CONCRETE BLOCK: 7/8" MINIMUM EMBEDMENT WITH 3" MINIMUM EDGE DISTANCE AND 3" | b B ] Sy ADMIT _ ’
SPACING. F Teurirrbd ©4
B=  1/4"® ELCO MALE / FEMALE “PANELMATE" WITH 1/4-20 MACHINE SCREW OR NUT @ 2x441/4 ANGLE OR 2X5X1/4 (P 3
" FOR CONCRETE: 2" MINIMUM EMBEDMENT WITH 3" MINIMUM EDGE DISTANCE AND 3" SPACING. 75" - Jw Mﬂwﬂ%&nﬂu%%& oLE TYP.TOP % i
FOR HOLLOW nmum_mﬂmm BLOCK: 1-1/4" MINIMUM EMBEDMENT WITH 2" MINIMUM EDGE DISTANCE AND 3" 3
FOR WOOD: 1-7/8" MINIMUM EMBEDMENT WITH 3/4" MINIMUM EDGE DISTANCE AND 15" SPACING. 100" BEAM SPAN————=
(= 1/4"® ITW _TAPCON SG " MIN . 1.125" MIN.
FOR CONCRETE: 1-3/4" MINIMUM EMBEDMENT WITH 2-1/2" MINIMUM EDGE DISTANCE AND 3" SPACING. (FRONT VIEW) 1.50 EDGE DISTANCE Soming o
FOR HOLLOW nmumm__mzqmm BLOCK: 1-1/4" MINIMUM EMBEDMENT WITH 2-1/2" MINIMUM EDGE DISTANCE AND 3 WOOD| MN ST SEE BEAM SCHEDULE 08-361
FOR WOOD: 1-172" MINIMUM EMBEDMENT WITH 3/4" MINIMUM EDGE DISTANCE AND 15" SPACING. ANCHOR SPECIFICATIONS o

C:\_MiDi_Projects\MiDisparate_CAD\VIKnezevich\CAD2008\Town_and_Country\08-361\R2-sub\08-361-04.dwg, 5/29/2009 4:11:05 PM, 11 x 17, 1:1, www.MiDisparate.com



AU\ TR R

Z[p - \MHH%\:&: 0.090"x1"x3-1/2" WITH (2) @
! - |17 1/4"9 RIV-NUTS (TOP & BOTTOM OF
CLOSED POSITION k
LT — T3 |
CLOSED POSITION = 2
=~ < |2
) =
< a3 2
g z
_— eS| 3
O SES |
- - - Z8xg|s
Lt Q=2
PLAN VIEW 1 PLAN VIEW 2 PLAN VIEW 3 m m.um{m,ﬁm S
SCALE: 1-1/72" = 17-0" SCALE: 1-1/72" = 1-0" SCALE: 1-1/72" = 1-0" N mmm.m =
== N %7
(2) #14x1" STAINLESS <53 =22
STEEL SMS H.mpmbmw@ 2
) &) Els M% X 2
Z v m Inm mmﬂ_w m
255 S
CLOSED POSITION CLOSED POSITION V U 5 4
o N < E Mz >
—nm—n® . Lmama — V/ Z mwT m
=3 ©
1) 5/16"8 ITW TAPCON XL (2) #14x1" STAINLESS rM & =
OR (2) 1/4"® ITW TAPCON STEEL SMS =
OR (2) 1/4"® SHEET METAL SCREW N 3
OR (2) 1/4"® LAG SCREW = >
SEE ANCHOR SCHED. FOR MIN. P ] 2
EMBED. & EDGE DIST. re Gl =
—_ —_ >= r @« T
(MR w0 tWSCrLLAw
PLAN VIEW 4 PLAN VIEW 5 PN TS e
SCALE: 1-1/2" = 7-0" SCALE: 1-1/2" = 1-0" N E usz .
" (1) 5/16"8 ITW TAPCON XL 2 a5 x3x
#14x1" STAI =l
12) Bt STANLESS OR (2] 1/4"® ITW TAPCON A1)
OR (2) 1/4"® SHEET METAL SCREW 2 [Nt
1 3 ] 3 . OR (2) 1/4"% LAG SCREW = o it £ 50
PLATE 0.090"x1"x3-1/2" WITH (2) e SEE ANCHOR SCHED. FOR MIN. = = o g3
1/4"® RIV-NUTS {TOP & BOTTOM OF EMBED. & EDGE DIST. = Fa50
CLOSED POSITION Q =34
PANELS) O 23
| @ X ,,::::::::::EK a 0 =4 = m
] s
. 1 o T_ S
S g
{1)5/16"¢ ITW TAPCON XL = 8
CLOSED POSITION OR (2) 1/4"® ITW TAPCON
OR (2] 1/4"® SHEET METAL SCREW
OR (2) 1/L"® LAG SCREW (HINGES NOT SHOWN FOR CLARITY) =
" SEE ANCHOR SCHED. FOR MIN. 5
- - EMBED. & EDGE DIST. (DOUBLE "C" CLIP) (SINGLE "C" CLIP) s gl
LLAVEN S A Z-BAR ANCHOR SCHEDULE NOTE: Wl B
TN e ™ CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69", ONE CLIP REQ'D AT MID-SPAN (+3") FOR sle®
MANUF. |DIAMETER DESCRIPTION c_%cﬁo*” EMBED. | SPACING SPANS < 69", 2l |
CONCRETE (MIN. f¢ = 3350 PSI) OPEN POSITION LOCK Qv
p I PLATE 0.090"x1"x3-1/2" WITH (2) ELCO | 1/4 IN. [STAINLESS STEEL PANELMATE | 2.50 IN | 2.00 IN | 3.00 IN SCALE: 3" = 1-0"
. e R 1/4"¢ RIV-NUTS (TOP & BOTTOM OF ELCO | 1/4 IN. [MALE PANELMATE (or P..PRO)| 2.50 IN | 2.00 IN | 3.00 IN EEE
-3 [ PANELS) ELCO | 1/4 IN. |FEMALE PANELMATE 250 IN | 1.75 IN | 3.00 IN 2l
\\\\\\ ; mw 1/4 IN. |TAPCON SG 2.50 IN | 1.75 IN | 3.00 IN .Wm w
= = ALL-POINTS| 1/4 IN. |SOLID—SET ANCHOR 2.00 IN |0.875 IN| 3.00 IN .,%,Maum.x ww,., o
HOLLOW_CONGRETE BLOCK OPEN POSITION LOCK ANCHOR SCHEDULE = e L
CLOSED POSITION ELCO | 1/4 IN. [STANLESS STEEL PANELMATE | 2.00 IN | 1.25 IN | 3.00 IN anm,.v. Ve .x.__ﬂ%m k
ELCO | 1/4 IN. |MALE PANELMATE (or P.PRO)| 2.00 IN | 1.25 IN | 3.00 IN w.meT_mw_anw-_‘.mmm_qqmi TAPCON XL175" EMB. 2° ED Ae | o
ELCO | 1/4 IN. |FEMALE PANELMATE 2.00 IN | 1.25 IN | 3.00 IN 2.899 KS| CONCRETE ' e e AN
mw 1/4 IN. |TAPCON SG 250 IN | 1.25 IN | 3.00 IN {2)-1/4 DIAM. ITW TAPCON -1.75" EMB, 1" E.D. ey Q@m& E2 R CH
- ALL-POINTS| 1/4 IN. |SOLID-SET ANCHOR 2.50 IN |0.875 IN| 3.00 IN HOLLOW CONCRETE BLOCK " " R et T
Md_um\a DIAM. ITW TAPCON XL-1.25" EMB, 4" E.D. A ! r
PLAN VIEW 8 WOOD (SOUTHERN YELLOW PINE, G=0.55) 2)-1/4" ITW TAPCON -1.25" EMB, 2.50" E.D. % po
T ELCO  [1/4 IN. STAINLESS STEEL PANELMATE [0.75 IN [1.875 IN [3.00 IN muowﬂ%m..o_.um_.w%mw_mﬂ METAL SCREWS.175" PENETRATION WITH 3/4* m%
ELCO  |1/4 IN. MALE PANELMATE (or P.PRO) [0.75 IN 1.875 IN [3.00 IN M w- " DIAM. REWS-1. A DY
ELCO  |1/4 IN. FEMALE PANELMATE 0.75 IN [1.875 IN |3.00 IN 2)-1/4" DIAM. LAG SCREWS-1.5" PENETRATION, 3/4" E.D.
W 1/4 IN. TAPCON SG 075 IN [1.50 IN |3.00 IN
1/4 IN. | —20 S.S. HANGER BOLT 0.75 IN |1.25 IN |1.50 IN graing o
WOOD (SPRUGE-PINE-FIR (SPF), G=0.42) Qmuwmu.
7 1/4 IN. ?B S.S. HANGER BOLT TEm IN T.Nm IN T.mo IN sheet 5 of 5

C:\_MiDi_Projects\MiDisparate_CAD\VIKnezevich\CAD2008\Town_and_Country\08-361\R2-sub\08-361-05.dwg, 5/29/2009 4:10:51 PM, 11 x 17, 1:1, www.MiDisparate.com



	08-361-01
	08-361-02
	08-361-03
	08-361-04
	08-361-05

